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Choose the correct form of verb to fill in the blank.

The price of oranges
(1) are
(3) 12

(1) 1

(2) 2

(3) 3
(4) 4

FefeAfad 7 FE-11 75559 379G 2 7

() =

g T

(3) 2T

(1) 1
(2 2
3) 3
(4) 4
1[Option ID=11201]
2[Option ID=11202]

3[Option ID=11203]
4[Option ID=11204]

rising in the market.

{(2)  have
{(4) had

(2) =i
(4) =g

Sl. No.2
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From among the four options given. choose the most appropriate sequence for the four
phrases given below to make a meamingful sentence :

(A) wages were going to be cut and
(B) the workers were up in

(C) decided to go on strike

(D) arms when they heard that their

Choose the correct answer from the options given below:

(1) (D). (A).(C). (B)
(2) (B). (D). (A). (C)
(3) (C). (B). (D). (A)
(4) (A). (C). (B). (D)
(1) 1
(2) 2

(3) 3
(4) 4

Tt areT #1 StEa FER =afeE i

(A) 3 5E5E AT F (B) i T H
(C)  FwmEed (D) =

(E) uF3nugz =
(1) CEDBA (2) ABCDE
33 BCDEA (49 CDABE

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11205]
2[Option ID=11206]

3[Option ID=11207]
4[Option ID=11208]
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Which two of the following words take ‘irregular’ verb forms?

(A) begin
(B) defy
(C) manage

(D) bite

Choose the correct answer from the options given below:

(1) (A) and (D) only
(2) (A) and (B) only
(3) (B) and (C) only
(4) (B) and (D) only
(1) 1
(2) 2

(3) 3
(4) 4

“Fq o Tea | W W e § 9 e giea B 27

(1) A (2) Tao=m=
(3) =Ha 4) Tz
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=11209]
2[Option ID=11210]
3[Option ID=11211]
4[Option ID=11212]

Sl. No.4
QBID:1007179




Match List I with Last IT :

Last I List IT
(word) (synonym)
(A) accolades (I) show
(B) desultory (II) honour
(C) evince (IIT) guess
(D) surmise (IV) aimless

Choose the correct answer from the options given below :

(1) {A)-(IV). (B)-(III). (C)-(II). (DH-(I}
(2) (A)-(I). (B)-(II). (C)-(IIL), (D)-(IV)
(3) (A)-(II), (B)-(IV). (C)(I). (D)-(IIT)
(4) (A)-(IIT). (B)-(I). (C)«(IV). (D)-(IL)

(1) 1
(2) 2
(3) 3
(4) 4

4= =t %A fon o 2 v st (Assertion (A) F T 4 TeArgd 2 A TE 3% #T0 (Reasons (R)
X

=T
AR (A) ‘I7 e 2 | "HHE Sa9E e H A 2
= (R) : HET FE9H F A HE H g F A w6 2

U YA F A 0, 9 5 T e 9 geE I S 6 =9 it

(1) (A =i (R) 7 =8t 2 570 (R), (A) Fi = == 2
(2) (A IR (R) FH T 7, A (R), (A) Fi TA =wen 165 2
(3) (A =F 7, = (R) 98 475 2
@ (AT T 2, 7= R) TE 2
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=11213]
2[Option ID=11214]




3[Option ID=11215]
4[Option ID=11216]

Sl. No.5
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Pick out the correctly spelt word.
(1) twelth (2) twelfthe
(3) twelfth (4) towelfth

(1) 1
(2) 2
(3) 3
(4) 4

TA-1 % Ty 1 g1-11 e e

S 11T
@) =k O e
(B) 5= &1 o T a1 7 A A @
(C) TTaFmadgmAz (1) ==
(D) & ITEER FH A av) Fh
3 o o e § O T I w = i

(1) (A)-1D). (B)-(ID), (C)-(IID), (D)-(IV)
(2) (A)-(IV). (B)-(I1I). (C)-(II), (D)-(I)
(3)  (A)-ID), (B)-(D). (C)(ID). (D)-(IV)
(4)  (A)-IID. (B)-(I). (C)-(IV), (D)-(II)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11217]
2[Option ID=11218]

3[Option ID=11219]
4[Option ID=11220]
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“The peace talks between the Russia and Ukraine ended 1n a stalemate.”

From the following options pick the correct synonym of the word in italics.
(1) Agreement (2) Dilemma
(3) Impasse (4) Disagreement

(1) 1

(2) 2

3) 3
(4) 4

AfefEa § sfas F0F & 99 7
(A) 7wy, FEET T F

(B) i FH W R

(C)  amfeem, 99 el o 47

(D) =5 T FE 9E A

(E) 37 =1 91 UF FE T 7|

= 5o o fTwed ¥ | 5E I #1999 At
1) (A). B 3 (©)
2  (B).(C) #n (D)
(3)  (B). (C) ¥ (E)
@  (B). (D) N (E)

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11221]
2[Option ID=11222]

3[Option ID=11223]
4[Option ID=11224]
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Identify the correct direct speech of the following sentence.

Arshil said that he was very busy then.

(1) Arshil said. “He 1s very busy now.”
(2) Arshil told. “T am very busy now.”
(3) Arshil said. “You are very busy now.”
(4) Arshil said. “T am very busy now.”
(1) 1
(2) 2
(3) 3
4) 4

=z = Fo o #

FoA [ a9 519 § e s o s el Al 2

FeAI: O FSF @ Faal 2| FOE EE gU @ W vw e B
IEE FUA F AEF 4, A= 70 T T | O aed I 39w 99 F

(1) =99 [¥r Il = 981 7
(2)  F2F [ #R I aFA TTed =
(3) = =& 2, i e I 7Tea 2
(4) =¥ [ 7, oA %o [ ae 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11225]
2[Option ID=11226]

3[Option ID=11227]
4[Option ID=11228]

Sl. No.8
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Which of the following 1s a one-word substitute for "a person who 1s unsure about God's
existence 7

(1) Renegade

(2) Atheist

(3) Irreligious

(4) Agnostic

(1) 1
(2) 2
(3) 3
(4) 4

4= 71 FF 5 e E

FRI1: T H e gEE # e R - TE-Su § g9 G %GRl WH A

Fo| I1:  Traifa FaaEfa & a5 sfates #68 % 0Fa § ed a1d o9 5 9 590 F1 F07 75 2
I F9H F AT H, 49 70 T G § 9 Teh T8 39 6 999 Hie

(1) =@ I3 I gA o =

(2)  Fu [ ¥R I =1 99 2

(3)  #A [ & 2, wfFA F9A I 3797 =
(4)  wy [ @ 2, A wae [ a0 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11229]
2[Option ID=11230]

3[Option ID=11231]
4[Option ID=11232]
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Choose the correct passive voice of the following sentence.

I was waiting for the minister.

(1) The minister was being waited for by me.
(2) The minister was waited by me.
(3) The minister was waiting for me.
(4) The minister had been waiting.
(1) 1
(2) 2
(3) 3
(4) 4
A&  frEm
B) AR
(C) =
D)
(E) am
= fou o fawed § § w8 I #1999 e

(1)  F=4 (A), (B) # (C)
(2)  F== (B). (C) ¥ (D)
(3)  Fa= (B). (D) 1 (E)
@  Fad (C). (D) 31 (E)

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11233]
2[Option ID=11234]

3[Option ID=11235]
4[Option ID=11236]

Sl. No.10
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Fill up the blank with the correct form of verb.

Neither food nor water available there.
(1) were

(2) will not be

(3) was

(4) have being

(1) 1
(2) 2
3) 3
(4) 4

HefAtEd § FF 5 AEds e e ag 7
(A)  EieE-FaEtas

(B)  @ifa=-THaTE

(C) TR

(D) =d-FEa

(E) =T 7w

J= fou o faweat 9 @ 99 3 # 99a A
(1)  F= (A), B) # (C)
(2) == (B). (C) #it (D)
(3)  F= (B). (D) i (E)
@  Fa= (C). (D) ¥ (E)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11237]
2[Option ID=11238]

3[Option ID=11239]
4[Option ID=11240]

Sl. No.11
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The notification declaring the minority communities / groups is done by :

(1) The Parliament
(2) The State Governments
(3) The Central Government
{4) Concurrently by State and Central Governments
(1) 1
(2) 2
3) 3
(4) 4
HETEETF TUEET| TRl I Hii6d B A SAgEaT B S w27
(1) =%
(2) T R
(3) o TR

(4) g 3N U5 TR g 9T9-TT

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=11241]
2[Option ID=11242]

3[Option ID=11243]
4[Option ID=11244]

Sl. No.12
QBID:1007187

The first 1image of a black hole captured by Event Horizon Telescope (ETH) has been named
as :
(1) Stephen Hawking BH*AB (2y SYr*A
(3) Messier 87 (4) Eienstien Galaxy BH*88
1) 1
(2) 2

(3) 3
(4) 4

Ta=e BT feemia (ETH) g1 et For-faar (w04 &ie) & @9 1o vt wffems = @41 719 27

(1) =94 =% BH*AB (2) SYr*A
(3) A= 87 (4) FE=IH e BH=88

(1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=11245]
2[Option ID=11246]

3[Option ID=11247]
4[Option ID=11248]

Sl. No.13
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The dance form which uses Jayadeva's Gita Govinda in an extensive manner 1s called :

(1) Kuchipudi (2) Chau
(3) Manipuri (4) Odiss1

(1) 1
(2) 2
(3) 3
(4) 4

SHed & Ma-TiEs 5 SE @ ° I W Gl AR el & a AW B 7

(1) @rﬂ\jél (2) B=
(3) =g (4) afifsHr

1)1
(2) 2
3) 3
4) 4
1[Option ID=11249]
2[Option ID=11250]

3[Option ID=11251]
4[Option ID=11252]

Sl. No.14
QBID:1007189

The celebration of National Press Day on November 16 in India was started by :

(1) Press Council of India

(2) Ministry of Information and Broadcasting
(3) United Nations

(4) National Press Club

(1) 1
(2) 2
(3) 3
(4) 4




16 == 1 TP W oA % w9 4 wE i IEe e = i ?

(4)

(1) 1
(2) 2
(3) 3
(4) 4

w9 g
Y UH T

1[Option ID=11253]
2[Option ID=11254]
3[Option ID=11255]
4[Option ID=11256]

SI. No.15

QBID:1007190

Shyam Benegal's Committee was set up in 2016 for :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

clearing the backlog of films for certification
regulating the adult films
develop a strategy for promotion of children's films

laying down rules for film certification

2016 § 73719 ST Tiata e fow w4 T i ?

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11257]
2[Option ID=11258]
3[Option ID=11259]
4[Option ID=11260]

Sl. No.16




QBID:1007191

If South - East becomes North - West then what will South - West become?

(1) North - West (2  South
(3) North (4) North - East

(1) 1
(2) 2
(3) 3
(4) 4

At gfem-qd se-afram & S A fm-afran w0 e

(1)  Sw-ufvam (2)  Tieo

(3) == (4) W

1)1
(2 2
3) 3
(4) 4
1[Option ID=11261]
2[Option ID=11262]

3[Option ID=11263]
4[Option ID=11264]

Sl. No.17
QBID:1007192

In the question below statement and assumptions are given. Consider the statement and
choose the correct option from the following on the basis of the assumptions.
Statement :

Area welfare society requested the local administration to allow them for converting vacant
land 1nto vehicle parking area at their own cost.

Assumptions :
(1) The local authorities shall be happy to give permission.
(11) The welfare society shall be able to collect funds to convert the land into vehicle

parking area.
(1) Only (1) 1s 1implicit
(2) Only (11) 1s 1impheit
(3) Both (1) and (1) are implicit
(4) Neither (1) nor (11) 1s implicit

(1) 1
(2) 2
(3) 3




(4) 4

Hre fou o wee v A it g -uwe 4 T #| qd-arens % Aen W awed W faen Fife o F=
feu T fawedi § o @ fawey &1 =999 it

A

ofte detha wETEd A4 e yeeE 8@ e e 5w we wous gl wdiE w0 s i
It & S a3 5|

FERCHILILE

(1) T wAfyst sEEta S E)|

i) et SHE FTE-wE &7 aeer F o e g g -tE e | 9Em w56

(1) ae (i) I 2

(2) e (ii) - B

(3) oA (@ R (i) T Fea E

(4)  Far (1) T (11) T WEd 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11265]
2[Option ID=11266]

3[Option ID=11267]
4[Option ID=11268]

Sl. No.18
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Question below consists of a statement and two arguments. Decide which argument 1s strong
and which 1s a weak argument.

Statement :

Should ban on hunting of tigers in forests be lhifted?

Arguments :

Yes. the ban 1s not effective as tigers are still being killed.

No. the tigers will start roaming in the city.

(1) Only (1) 1s strong argument.

(2) Only (11) 1s strong argument.

(3) Neither (1) nor (11) are strong arguments,

(4) Both (1) and (11) are strong arguments.

(1) 1
(2) 2
(3) 3
(4) 4

F= o wes v aweT AR Gl a | o i T S T ad yee & o FE T e a2 v

T -
F1 991 1§ AT % (9RO Utdeeg 521 fear S = nEe ?
TF

(i) =, gfde-g TuEEmE A5 & FEih a o off 7w w #)
(i)  EI, a9 WEL § gEAT % o

(1)  =hae (i) Jot @ 2

(2)  FAA (i) &S TF 2l

(3) A4 (1) AT F (i) T qH =

(4)  TAT (1) 3R (i) T&A T B

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11269]




2[Option ID=11270]
3[Option ID=11271]
4[Option ID=11272]

Sl. No.19
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Select a suitable figure from the answer.

Fizures that would replace the question mark (7).

Problem Figures :

Answer Figures :

O

P

Ol

(A)

(1)
(3) 3

(1) 1
(2) 2
(3) 3
(4) 4

{B)

(C)

(D)

<P

2y 2
4y 4

SR-FTHA § § U 3fa SHE F GAE Fiew S vErE® e (2) F wE o a6
T — SRR

I - AHfEE

(&) (B) (C) () (1) (2) (3) (4)
(1} 1 (2 2
(3) 3 (4 4
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=11273]
2[Option ID=11274]
3[Option ID=11275]
4[Option ID=11276]

Sl. No.20
QBID:1007195




Pointing towards Mary. John said ‘Only daughter of Father-in-law of her brother's mother 1s
my wife’. How 1s John related to Mary?

(1) Brother (2} Uncle
(3) Father {(4) Data Insufficient

(1) 1
(2) 2
(3) 3
(4) 4

T 1 AR T FAd g0 A A, | IEH H1E Hi W F TG H TRAA T A w7 | S w0 OEG F
T 27

(1)  wmE (2) =r=
(3)  fum (4) F=N A 2

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=11277]
2[Option ID=11278]

3[Option ID=11279]
4[Option ID=11280]

Sl. No.21
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A shop stores x kg of rice. The first customer buys half this amount plus half a ke of rice. The
second customer buys half the remalning amount plus half a kg of rice. Then the third
customer also buvs half the remaining amount plus half a kg of rice. Thereafter, no rice 1s left

in the shop. Which of the following best describes the value of x?

(1) 2<x=<6 2y bH=x=<8§8
(3) D<x<12 4) 11<x<l4
(1) 1

(2) 2

(3) 3

(4) 4




UF GHE H Ae H x [ 95K 7| TEell WEd SH AT F Gl a9 S G =ee A e §) g
TTEF S g W S 94 el R weEe AR e 2| w0 aEs o st gt 9w s qen
s T =rEw 3R TiEa 21 39 W 5FE | F i 9ed T8 a9 2| 79 5§ o F 56 B aed w6
afefa =ar 27

(1) 2<x<B (2) bHB<x<8§
(3) O<x =12 (4) 11<x<li4
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11281]
2[Option ID=11282]
3[Option ID=11283]
4[Option ID=11284]

Sl. No.22
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There are two circles of different radius such that radius of the smaller circle 1s two-fifth that
of the larger circle. A square whose area equals 5184 sq cm has 1ts side as thrice the radius of
the larger circle. What 1s the circumference of the smaller circle?

(1) 65.25 em (2y  60.34 cm

(3) 49.34 em (4) 5H4.253 cm

(1) 1
(2) 2
(3) 3
(4) 4

firm st At @ g B SR g A from w2 g9 B Bew W 2 A wm 3| v o fmw S
2}
5184 = =t 2 it Ton =2 g F B F A7 T R B I9 w0 afemy =Ry

(1) 65.25 OHi (2)  60.34 gt
(3) 49.34 oy (4) 54.23

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=11285]




2[Option ID=11286]
3[Option ID=11287]
4[Option ID=11288]

Sl. No.23
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Ramesh purchased a house worth Rs. 10.00,000 and Amrita purchased a car worth Rs.
16.00,000. The value of house every vear increases by 20% of the previous value and the value
of car depreciates every vear by 25%. What 1s the difference between the price of house and
car after 3 years?

(1) 10.63.000 (2) 10.53.000
(3) 10.43.000 (4) 11.53.000

(1) 1
(2) 2
(3) 3
(4) 4

o 3 =, 10.00.000 = TF =Y WG 99 39 4 % 16.00.000 1 wF FR @il | 9edE 99 = i
fimet ¢ F Fr T 20% wedt 2 ok ww H Fiva fed o B Fima w 25% T 2| 99 ad 5w
T HE hI FHAT B AT AT BT

(1)  10.63.000 (2) 10.53,000

(3)  10.43.000 (4) 11.53,000

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11289]
2[Option ID=11290]

3[Option ID=11291]
4[Option ID=11292]

Sl. No.24
QBID:1007199
Vivek had % 23.000. He invested some amount in scheme A at SI at 20% and the remaining

amount in scheme B at CI at 10%. If Vivek got the same amount from both of them at the end
of one year, how much (in %) did he invest in scheme B?

(1) %, 12.000 (2) %. 13.000
(3) % 11.800 4y =. 12,600
(1) 1
(2) 2
(3) 3

(4) 4




faa® & o . 23.000 31 F69 F9 UE gREEET A H 20% WYR S W 9T 99 i gfiEse B d
10% =g == W a9 fFen 4t 59 F1 oF 99 515 2@ J=eT & g9e T G, 369 gt B
T TRt T F1 e T ?

(1) 3. 12,000 (2) *%.13.000

(3) % 11.800 (4) %. 12.500

1)1
(2) 2
3) 3
(4) 4
1[Option ID=11293]
2[Option ID=11294]

3[Option ID=11295]
4[Option ID=11296]

Sl. No.25
QBID:1007200

Peter marks up all Jeans in his shop 20% higher. He gave 25% discount on 2/5™ of the total
Jeans and 12% discount on 1/4% of the total Jeans. If Peter gets an overall profit of 2.3%. then
what percentage of discount should be given by Peter to customers on the remaining Jeans?

(1) 10% (2y 2%
(3) 3% {(4) 5%
(1) 1
(2) 2

(3) 3
(4) 4

tﬁa:ﬂﬁlwﬁmﬁﬁﬂmfﬁtﬁnﬁzﬂ%maﬁm%lﬁrﬁﬁﬂm%gﬁﬁmm 25% e T
o

Weﬂm%ﬁiﬁﬂmm 12% $t gz 41| afg diex F1 1 A1 2.3% T9 BT 2| 99 99 G W AEF FH
fope wfoem it @z <t = =nfe ?

(1) 10% (2) 2%

(3) 3% 4 5H%

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=11297]
2[Option ID=11298]

3[Option ID=11299]
4[Option ID=11300]

Sl. No.26
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What does
(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

EMS FT
(1)

4

(1) 1
(2) 2
(3) 3
(4) 4

PTI stand for?

Pioneer Trust of India
Press Technology Institute
Press Trust of India

Pioneer Technology Industry

RAH & 2

IR g 3% S
UH A SEEICIT
9F o 3w sfEar
qrafaay EeAtellal S3Fcr

1[Option ID=12201]
2[Option ID=12202]

3[Option ID=
4[Option ID=

12203]
12204]

Sl. No.27

QBID:1044002

Which Article of the Indian Constitution guarantees the freedom of speech and

expression?
(1
(2)
(3)
4
1)1
(2) 2
(3) 3
(4) 4

Article 19(1)
Article 19(2)
Article 18(1)
Article 18(2)




AR @R F Fa-ar segese wwor st sfdefra & wadEa #

IS S & 7
(1) Feqese 19(1)
(2) FeTede 19(2)
(3) HTeoG 18(1)
(4) aﬂﬁ‘m 18(2)

(1) 1

2) 2

(3) 3

4) 4

1[Option ID=
2[Option ID=
3[Option ID=
4[Option ID=

12205]
12206]
12207]
12208]

Sl. No.28

QBID:1044003

What 1s the Editor’s Guild of India ?

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

An association for protection of senior journalists.
An association that stands for the freedom of the press.
An association that advises the government on defence matters.

An association that protects the rights of civilians.

wf3ed fres 3% s F=ar ¢ 2

(1
(2)
(3)
4

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=
2[Option ID=
3[Option ID=
4[Option ID=

aRss TARRI HT GET & U TH d@

Ts Y S 9 HT FTadIdT F T8 @ @
Tsh §Y S &I AA 9 TIHR T8 ol &
T Y S AT & 3Rt & & Fiar §

12209]
12210]
12211]
12212]

Sl. No.29

QBID:1044004




Feedback 1s possible m which type of communication?

(1) Vertical
(2) Circular
(3) One-way
(4) Authoritarian
(1) 1
(2) 2
(3) 3
(4) 4
TR F e wer 7 sfogfe @ ¢ 0
(M) FeatR
2) FJAFR
(3) Tl
* feFRaTer
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12213]
2[Option ID=12214]
3[Option ID=12215]
4[Option ID=12216]

Sl. No.30
QBID:1044005

Which of the following is not a characteristic of communication?

(1) It 1s participatory
(2) It 1s a two-way flow
(3) It guarantees equality
(4) It requires expression
(1) 1
(2) 2
(3) 3
(4) 4

farfaf@a # & il Tar & Rvaradie 2
(1 qE WA &

@ TE SR JaTE &

3) TE THACT T TLE ST &

(4) 0 yfFeafea $r smaegsar &

(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=12217]
2[Option ID=12218]
3[Option ID=12219]
4[Option ID=12220]

Sl. No.31
QBID:1044006

Which of the following is nof a real function of mass media?

(1) Corporate business
(2) Empowerment
(3) Awareness
(4) Information
1)1
(2) 2
(3) 3
(4) 4

=g & ¥ si9 a1 7/ Aifzwr 771 aa°s Faagis 0
(1) FITANE TTAT

(2) TaATFaHIoT

(3) AR AT

(4) TR

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12221]
2[Option ID=12222]

3[Option ID=12223]
4[Option ID=12224]

Sl. No.32
QBID:1044007

What do you mean by kinesics?

(1) Unfocused imteractions
(2) Body language

(3) Paralanguage

(4) Spatial communication
(1) 1

(2) 2

3) 3

(4) 4




(3) HreT F HON F Helgs doa
(4) onfas g9rx

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12225]
2[Option ID=12226]

3[Option ID=12227]
4[Option ID=12228]

Sl. No.33
QBID:1044008

PTI, UNI, AFP and AP are all :

(1) News commissions
(2) Media corporates
(3) News agencies
(4) Media financing bodies
1)1
(2) 2
(3) 3
(4) 4

WENE. I UA.TS. TOG.A. 3T T | 4w
(1) AT 3R
(2) Hifgar Frarew
(3) FAER tSfewa
(4) iz feqamor @

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12229]
2[Option ID=12230]

3[Option ID=12231]
4[Option ID=12232]

Sl. No.34
QBID:1044009




Which of the following 1s the highest award in Indian Cinema ?

(1) Tagore Samman
(2) Indian Films Academy Award
(3) Satyajit Ray Rashtriya Puraskar
(4) Dadasaheb Phalke Award

(1) 1

(2) 2

3) 3

(4) 4

fArfaf@d #& & #lq-ar srda aar & ddfea RER 2
(1) SR FFATA

) HRAT fhed el EhR

(3) TSI ¥ TG [WEHR

(4) EIGTATEd Hlesh TIERR

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=12233]
2[Option ID=12234]
3[Option ID=12235]
4[Option ID=12236]

Sl. No.35
QBID:1044010

What are puppetry, Ramlila, street theatre and tamasha forms of?

(1) Folk media
(2) Rural media
(3) Mass media
(4) Ancient media

(1) 1

(2) 2

(3) 3

(4) 4

HEYclell, THATT, FFhs Alcsh R TART =1 § 2
(D e Afzar

(2) aroT FHifzar

(3) S - "§OR Az

4 wreileT Hifsar




(2) 2
(3) 3
(4) 4
1[Option ID=12237]
2[Option ID=12238]

3[Option ID=12239]
4[Option ID=12240]

Sl. No.36
QBID:1044011

Mass media audiences are

(1) Identifiable

(2) Anonymous
(3) Specific Strata
(4) Concentrated

(1) 1

(2) 2

(3) 3

(4) 4

Arg Afzar & fow g §
(n JEaeaE g
(2) ECEIG]
(3) fafse FFax
(4) Higd

1)1

(2) 2

(3) 3

(4) 4

1[Option ID=12241]
2[Option ID=12242]
3[Option ID=12243]
4[Option ID=12244]

Sl. No.37
QBID:1044012

Which of the following is a recent phenomenon of modern day media in India ?

(1) Film news
(2) Paid news
(3) Sports news
(4) Featured news
(1) 1
(2) 2
(3) 3

4) 4




i@ # ¥ Fia @1 ARG F A+ FAHAN ATCTAT FH gREear § 2

(1) fFes ==
(2) U= =T
(3) T =
(4) e =
L
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12245]
2[Option ID=12246]
3[Option ID=12247]
4[Option ID=12248]

Sl. No.38
QBID:1044013

In which of the following are the expectations of the people being manipulated to the
maximum?

(1) [nstructional situation
(2) Agitative situation
(3) Persuasive situation
(4) Personal situation

1)1

(2) 2

3) 3

(4) 4

f=fafEag & ¥ frus ot &1 aoemat § 3w -t & aarg »
(1) fgemeas frufa

(2) Hare=TFrr Eafa

(3) farearaIcaes feafa

(4) cafFaea Rt

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12249]
2[Option ID=12250]

3[Option ID=12251]
4[Option ID=12252]

Sl. No.39
QBID:1044014




Which of the following has a long term effect on the audience?

(1) Regular face-to-face interactions
(2) Listening to a radio jingle
(3) Reading a book
(4) Watching a movie
(1) 1
(2) 2
(3) 3
(4) 4

Frtaf@a # & o 3mnes (3nEvede) W Seaiios 9sg 9sar § 2
(1) Fafaa sms-ams e

(2) T AT TSerer gerer

(3) Fae ggar

(4) fhed @

(1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=12253]
2[Option ID=12254]
3[Option ID=12255]
4[Option ID=12256]

Sl. No.40
QBID:1044015

Which of the following cannot be a part of media studies?

(1) Psychological effects
(2) Physiological effects
(3) Cultural effects
(4) Sociological effects
(1) 1
(2) 2
(3) 3

(4) 4




T=fefea 7 g Fiaar #fifzar segaa 77 Growadia gwar £ 2
(1) AAAAF THT

(2) MATF Torrg

O s

(4) THATAATAT g7

1)1
(2) 2
3) 3
4) 4
1[Option ID=12257]
2[Option ID=12258]

3[Option ID=12259]
4[Option ID=12260]

Sl. No.41
QBID:1044016

What does SITE stand for?

(1) Satellite Instructional Technology Experiment
(2) Synchronous Integrated Technology Experiment
(3) Satellite Instructional Television Experiment
(4) Synchronous Integrated Television Experiment

(1)1

(2) 2

(3) 3

(4) 4

SITEFT A ATH FT § ?
(1) HeoTET S=rcRETd SHATAST THIET
(2) B=ray geafes ol tFaaiFEe
(3) Hease s Saee THifEe
(4) Beplag gaifes Siifesa vemifaie

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12261]
2[Option ID=12262]
3[Option ID=12263]
4[Option ID=12264]

Sl. No.42
QBID:1044017




Which of the following is included in media and information literacy?

(1) Audience accountability
(2) Corporate credibility
(3) Audience psychography
(4) Media analysis

1) 1

(2) 2

3) 3

(4) 4

= # & Fla-ar AT 3R Fuar T 7 A § 2

(1) HIEAEH hl AdTaeer
(2) FUNE $r Fgaaaar
3) HaITEs AAGd
(4) mfzar Gecwor
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12265]
2[Option ID=12266]

3[Option ID=12267]
4[Option ID=12268]

Sl. No.43
QBID:1044018

Which of the followings unaffected by media directly ?

(1) Literacy rate

(2) Consumerism

(3) Desensitisation

(4) Buyers behaviour

(1) 1

(2) 2

(3) 3

(4) 4

Tafo@a 7 ¥ sia-ar & gt ov #Fa @ swawfea g 2
(1) HIEdr &7




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=12269]
2[Option ID=12270]

3[Option ID=12271]
4[Option ID=12272]

Sl. No.44
QBID:1044019

Which of the following statements 1s an incorrect description of media?

(1) Media 1s an agent of social change
(2) Media 1s a magic multiplier
(3) Media 1s an influencer
(4) Media affects culture
(1) 1
(2) 2
(3) 3
(4) 4

frfaf@a & ¥ Fia-91 Fu= Az 71 g Gworagiy o
(1) #;fzar grfas REaa #1 % o &

(2) Hifar v =S qUiE §

(3) ST T THTSAE &

@) s wEply Y wRE wE Y

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12273]
2[Option ID=12274]
3[Option ID=12275]
4[Option ID=12276]

Sl. No.45
QBID:1044020

Which of the following can bring about maximum development mn a society?

(1) Urbanisation
(2) Greater consumption
(3) People’s participation
(4) Westermisation

(1) 1

(2) 2

3) 3




(4) 4

T s o s g # ysar RFg s gFar & °
(1) ATELhTUT

(2) Hi+ I9Arr

(3) et i smaferdy

(4) qferHERIoT

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12277]
2[Option ID=12278]
3[Option ID=12279]
4[Option ID=12280]

Sl. No.46
QBID:1044021

Which of the following 1s not a feature of social media?

(1) Interactivity
(2) Photo sharing
(3) Video sharing
(4) Web seres

(1) 1

(2) 2

(3) 3

4) 4

Prfaf@a & o Sia-ar deer Hifzar & @Avaradid o
(1) Heai=atsear

(2) HIET |IST HLAT

(3) #ifsar aEw F=

(4) 3g @i =
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=12281]
2[Option ID=12282]
3[Option ID=12283]
4[Option ID=12284]

Sl. No.47
QBID:1044022




In information communication, what does UGC stand for?

(1) User Generated Content
(2) Unique Grammar Code
(3) Unicode Generated Content
(4) Unique Genome Code

(1) 1

(2) 2

(3) 3

(4) 4

= H9R # UGC T U ATH 1 § 2
(1) TN SIS Feded

) T+ TR FE

3) IAFIT AT Frtee

(4) T+ AT i3

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12285]
2[Option ID=12286]

3[Option ID=12287]
4[Option ID=12288]

Sl. No.48
QBID:1044023

Which of the following i1s an example of Social Networking sites?

(1) Instagram
(2) Google Pay
(3) Google Maps
(4) News sites

(1) 1

(2) 2

3) 3

(4) 4

T & & Fla-ar d@rere Acafdr asey #7 U 30T § 7
(1) STETH
(2) A T

(3) IR AR
4) FATER "5




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=12289]
2[Option ID=12290]

3[Option ID=12291]
4[Option ID=12292]

Sl. No.49
QBID:1044024

Which of the following is net a cryptocurrency?

(1) Bitcomn
(2) Dodgecoin
(3) Parthenium
(4) Ethereum

1)1

(2) 2

3) 3

4) 4

= 7 ¥ Fi9 v+ Feewdagis 2
(1) EECOED)

(2) STATRISA
(3) rffaas
(4) AT E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12293]
2[Option ID=12294]
3[Option ID=12295]
4[Option ID=12296]

Sl. No.50
QBID:1044025

Which of the following is not a part of visual cultural studies?

(1) Photo
(2) Film
(3) Graphics
(4) Text

(1) 1

(2) 2

3) 3

(4) 4




f=fof@a # & S 81 797 WiFpids 3eTIa 1 FraraAgt ¢ 2
(1) ==

(2) fther

(3) DR

(4) s

1)1
(2) 2
3) 3
(4) 4
1[Option ID=12297]
2[Option ID=12298]

3[Option ID=12299]
4[Option ID=12300]

Sl. No.51
QBID:1044026

What 1s NATO?

(1) An intergovernmental diplomatic alliance
(2) An intergovernmental military alliance
(3) An intergovernmental war treaty
(4) An intergovernmental o1l sharing alhance
(1) 1
(2) 2
3) 3
(4) 4
NATO T § ?
(1) U HA-UTHNT TS0 TSa4
(2) UF FA-AFNT e TSaue
(3) U FA-HGNT < HiY
(4) TF HIT-TIFNT ol TS F Jrell A0y
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=12301]
2[Option ID=12302]
3[Option ID=12303]
4[Option ID=12304]

Sl. No.52
QBID:1044027




What do Vishakha Guidelines focus on?

(1) Sexual harassment at workplace
(2) Gender sensitivity at public places
(3) LGBTQ nights
(4) Equal wages for women

(1) 1

(2) 2

(3) 3

(4) 4

feremar fenfader frm o g € ¢
(1) FRTIT W T 3
(2) AEAAF TUH T Afas Taea2ierar
(3) T S g e
(4) wfgamst & v gae 39

1)1
(2 2
(3) 3
(4) 4
1[Option ID=12305]
2[Option ID=12306]

3[Option ID=12307]
4[Option ID=12308]

Sl. No.53
QBID:1044028

Which of the following 1s nmef a country’s development indicator?

(1) Gross Domestic Product
(2) Human Development Index
(3 Maternal and Child Health Index
(4) Physical Quality of Life Index

(1) 1

(2) 2

(3) 3

(4) 4

frfaf@a & & #ia cu & G dFasadl & 2
(h Fhel B 309G
(2) Hiea f&FH gaaF
(3) A 3R T FRE g
(4) Staet 1 itfas aoramr gass




(2) 2
(3) 3
(4) 4
1[Option ID=12309]
2[Option ID=12310]

3[Option ID=12311]
4[Option ID=12312]

Sl. No.54
QBID:1044029

Which country 1s Greta Thunberg a national of?

(1) Switzerland
(2) Sweden
(3) Finland
(4) Australia

(1) 1

(2) 2

(3) 3

(4) 4

AT YA & 4 H ARINE § 2
(1) fFaeatels
(2) P IEC
(&) IR T CES
@ sefeEr

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=12313]
2[Option ID=12314]
3[Option ID=12315]
4[Option ID=12316]

Sl. No.55
QBID:1044030

The rights of LGBTQ communities are given under which article of the Indian

Constitution?

(1) Article 370
(2) Article 144
(3) Article 145
(4) Article 377

(1) 1

(2) 2

3) 3

(4) 4




LGBTQ ®Herdl & 3ft+R #Rdy dfaue & fFa sqese & dga fGu arw
e,
(1) <0G 370
(2) FIeOG 144
3) HIeoE 145
(4) TG 377
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=12317]
2[Option ID=12318]
3[Option ID=12319]
4[Option ID=12320]

Sl. No.56
QBID:1044031

In which year was the National Human Rights Commission established?

(1) 1948
(2) 1993
(3) 1996
(4) 1949

(1) 1

(2) 2

(3) 3

(4) 4

TSI ATAAITOFRR e fir 2r9ar 7 ag $r a8 o6 2
(1) 1948
(2) 1993
(3) 1996
(4) 1949

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12321]
2[Option ID=12322]
3[Option ID=12323]
4[Option ID=12324]

Sl. No.57
QBID:1044032




Which of the following personalities 1s an environmental crusader?

(1) Anna Hazare
(2) Nihal Singh
(3) Sundarlal Bahuguna
(4) Kailash Sathyarthi
(1) 1
(2) 2
(3) 3
(4) 4

foafoiaa # ¥ Si9-91 Ifeded 90T T=ET & 2

(1) HeaTl EoIR

(2) forgrer foiE

(3) el ool FgIOT
(4) ool Teardf

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12325]
2[Option ID=12326]
3[Option ID=12327]
4[Option ID=12328]

Sl. No.58
QBID:1044033

Pick the odd one out :

(1) Community media
(2) Alternative media
(3) Participatory media
(4) Legacy media

(1) 1

(2) 2

(3) 3

4) 4
faws =1 gav

(1) e Az
(2) dxfous Afzar
(3) weHrh AT
(4) T Afzar




(2) 2
(3) 3
(4) 4
1[Option ID=12329]
2[Option ID=12330]

3[Option ID=12331]
4[Option ID=12332]

Sl. No.59
QBID:1044034

Which of the following cannot be an advertising appeal?

(1) Crime
(2) Logic or reason
(3) Emotion
(4 Credibility
(1) 1
(2) 2
(3) 3
(4) 4

T=eEa # ¥ Fiadr T3 s 3o agt 2 TFar g 2

(1) LTS

(2) g% ;T FIOT

(3) AT

(4) o (freaw=iraam)
(1)
(2)

(3)
(4)

A W N =

1[Option ID=12333]
2[Option ID=12334]
3[Option ID=12335]
4[Option ID=12336]

Sl. No.60
QBID:1044035




Which of the following does a brand represent?

A. Identity
B. Value
C. Price Elasticity
D. Trust
E. Class
Choose the correct answer from the options given below :
(1) Only A, B, C
(2) Only A,B,D, E
(3) Only B, C, E
(4) OnlyC,D,E
(1) 1
(2) 2
(3) 3
(4) 4

T+ #13 Feae@g # ¥ Fraer so=te sEar g
A. YgdTld

B. Aged

C. {ed H o=ead

D. faearw

E. 97

R foT air et # § "Wl 3caY T 994 fifST

(1) F9e A, B.C
(2) #9e A.B.D.E
(3) %9 B.C.E
(4) %del C.D.E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12337]
2[Option ID=12338]
3[Option ID=12339]
4[Option ID=12340]

Sl. No.61
QBID:1044036




Which of the following factors 1s unsuitable for getting insights on mass audiences?

(1) Demographic
(2) Geographic
(3) Genetic
(4) Psychographic
(1) 1
(2) 2
(3) 3
(4) 4

Frfef@a & & sla-ar s 92 49 W 3mSRt & 3ace e Fe
& fou sugFaagiy
(1) SAEETRT
(2) sitanfors
(3) Safes
4) AET datlh
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=12341]
2[Option ID=12342]
3[Option ID=12343]
4[Option ID=12344]

Sl. No.62
QBID:1044037

What 1s target audience studied as a part of?

(1) Production
(2) Editing
(3) Promotion
(4) Research

(1) 1

(2) 2

3) 3

(4) 4

eI g2l T e fhds U H9T & &9 # fohar Srar g 2

(1) e IGG]

(2) HAGA
(3) AL
(4) amer




(2) 2
(3) 3
(4) 4

1[Option ID=
2[Option ID=
3[Option ID=
4[Option ID=

12345]
12346]
12347]
12348]

Sl. No.63

QBID:1044038

Which of the following is the best reason for holding a press conference?

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

For making an important announcement
To create a campaign strategy
To highlight the recent issues in society

For making off-the-record statements

OH FhA WS S T 598 30T FR0T @ # @ Sla-ar g2

(1)

(4)

(1) 1
(2) 2
(3) 3
(4) 4

UF Ageaqul GINoT H & e

FHEHAAT ETT g & fou

T # A & FEE WG 3w &
Hiw-g-Repis a9 &1 & fow

1[Option ID=12349]
2[Option ID=12350]
3[Option ID=12351]
4[Option ID=12352]

Sl. No.64

QBID:1044039

Who 15 the current President of Ukraine?

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Vladimir Putin
Volodymyr Zelensky
Vladimir Gurevich
Volodymyr Gorbachev




4 EICICGIEEIECISE]

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12353]
2[Option ID=12354]

3[Option ID=12355]
4[Option ID=12356]

Sl. No.65
QBID:1044040

How many countries are members of NATO?
(1) 32
(2) 33
(3) 3
4) 27

-

=

(1) 1
(2) 2
3) 3
(4) 4

fFasr &9r NATO F @eET ¢ ©

(1) 32
(2) 33
(3) 30
4 27

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12357]

2[Option ID=12358]

3[Option ID=12359]
4[Option ID=12360]

Sl. No.66
QBID:1044041




What 1s the ranking of India in Human Development Index?

(1) 145
) 138
(3) 148
(4) 131

1)1

(2) 2

(3) 3

(4) 4

Aea FerE Fadis 7 AR $r e w4 ¢ 0
(1) 145
2) 138
(3) 148
4) 131

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12361]
2[Option ID=12362]
3[Option ID=12363]
4[Option ID=12364]

Sl. No.67
QBID:1044042

Which of the following is not a tax?

(1) Insurance duty
(2) Excise duty
(3) Corporate tax
(4) Personal Income Tax
(1) 1
(2) 2
(3) 3
(4) 4
TeEa 7 ¥ Fi9 o1 v T a81 § 7
(1) 41T e
(2) 3cA1E
(3) GEIGGEETS
(4) TTFaITd I TTHT
(1) 1




(3) 3
(4) 4

1[Option ID=12365]
2[Option ID=12366]
3[Option ID=12367]
4[Option ID=12368]

Sl. No.68
QBID:1044043

Which of the following was India’s first electric car?

(1) Mahindra Reva
(2) Tata Nano EV
(3) Toyota Lexus
(4) Volkswagen 1D Buzz EV
(1) 1
(2) 2
3) 3
(4) 4

T=o@a # ¥ Sia @ ag Fr aga soifsdes F1 24 2
O k)

(2) aTeT AT £

(3) ZIATeT oFEH

(4) IFERT HE ST TAS A

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=12369]
2[Option ID=12370]

3[Option ID=12371]
4[Option ID=12372]

Sl. No.69
QBID:1044044

The Government has proposed a directive to seek records of Virtual Private Network
{(VPN) users as 1t can lead to

(1) Cyber frauds
(2) Documenting data
(3) Controlled access
(4) Economic revenues
1)1
(2) 2
3) 3

(4) 4




TFR F TYHT TEIE Acas (diva) F suaeeharst & RHs 9va =4
¥ for v R 1 gy Far § 9t soo

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

ST OT@IEr & harl &
22T SEATSATHIOT & HFaT &
a3 ag=r grasar &
HTfF UsF T A EFAT &

1[Option ID=12373]
2[Option ID=12374]
3[Option ID=12375]
4[Option ID=12376]

Sl. No.70

QBID:1044045

Bombay Stock Exchange (BSE) and National Stock Exchange (NSE) help the
companies in

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Listing themselves
Reporting their earnings
Publishing their annual reports

Allotment of sectors in which they want to operate

I Wi+ TFEES (AT HS) HR AvEd Wi USRS (TA U E) Fa=ar
Fr TFE H A F9 22

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

ge F HElag F

3T 3T 3T FF RO FAT

3 AT Raie ghifg w3

¥ FT A& &HWA T FH =T I6T &

1[Option ID=12377]
2[Option ID=12378]




3[Option ID=12379]
4[Option ID=12380]

Sl. No.71
QBID:1044046

Which of the following is a public sector enterprise?

(1) BPCL
(2) RIL
(3) Ranbaxy
(4) Bharat Biotech
(1) 1
(2) 2
(3) 3
(4) 4

AT d s sRmaesfs v w3gam &
(1) o7 of o T
) T3S T
(3) e
(4) T JEeF
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=12381]
2[Option ID=12382]
3[Option ID=12383]
4[Option ID=12384]

Sl. No.72
QBID:1044047

Which of the following four North-Eastern States 1s a reason for the nft between India
and China for long?

(1) Meghalaya

(2) Arunachal Pradesh
(3) Sikkim

(4) Nagaland

1)1

(2) 2

3) 3

(4) 4




Frafaf@a & & e I SIRYEl Toa F A oFd TAT ¥ Aa-AT F
o fare o @ § 2

(1) AUTHT
(2) ITOTIA Weer
(3) IGCIEET:]
(4) AReUE
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12385]
2[Option ID=12386]
3[Option ID=12387]
4[Option ID=12388]

Sl. No.73
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Which of the following is the Southern most tip of India?

(1) Kanyakumari
(2) Thiruvananthapuram
(3) Malpe
(4) Indira Point
1)1
(2) 2
3) 3
(4) 4

fFrfaf@a # & sla-ar w= sRa # gfdoras g ¢ 2
(1) FeATHANT
2 IGEECEEre:]
(3) Holq
4) giexr carge
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=12389]
2[Option ID=12390]
3[Option ID=12391]
4[Option ID=12392]
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The 26" Conference of United Nations Climate Change Conference of Parties,
(CoP26) recently concluded in Glasgow. Which of the following are correct with
respect to the outcomes of CoP267

A
B.
C.
D

The world leaders decided to act to limit temperature rise.
To accelerate action towards goals of Paris Agreement.
To work with local bodies to bring social change.

To create awareness about environmental 1ssues globally.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Only A and B
Only B and C
Only C and D
Only A and D

HIFT T TG TRade AT (CoP26) FT 2637 FeHelT grel &1 &
THAN H WA= 3T | CoP26 F INUMAT F Fau # Feafoi@d & d Fi-
qr T &

A

B.
C.
D.

feg Aamst & aEE e = ST F= F T 717 FT=3 F=7
feotar foram |

ofrg gA=a F Fegt #r or # I ¥ FEE FI4T |
Ao 9Ead a9 F O TaeT Fal F 9 15 #5341 |
freT TO7 W 9ATEROT F HrEF F I FH ARTRHAT 9T FIAT |

Jr foT ar Aot # § "l 3o} 7 994 fifew

(4)

(1) 1
(2) 2
(3) 3
(4) 4

wdar AT B
%del B3R C
%9 CHR D
gl AT D

1[Option ID=12393]
2[Option ID=12394]
3[Option ID=12395]
4[Option ID=12396]
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The Government in India 1s unlikely to allow a booster shot that 1s different from the
primary Covid-19 vaccine. Reasons are :

A,
B.

C:
D.

Mixing Covishield and Covaxin did not yield encouraging results.

If the booster 1s the same as the first two doses, the immunity 1s boosted
better.

It 1s cheaper to use the same vaccine as booster.

The constant shortage of one vaccine will not allow uniform administering
on a large population.

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Only A and C
Only Band C
Only A and D
Only A and B

AR THR GaRT FRATAS FHifds-19 ST & 3797 qFex Al H
FeTAT & HY HIHIGAT AGT & | FROT E

A.

Ffafes IR FAFET A Ra= § scaEa=s aRomA a8
fae |

afe, X dgell & Uk & FA ¢, A JORET H qFgoR ad
H Ferar S g |

TR F A ST FT ITANT F T |

T &5 T TR 9 v 99 3EEY W U AW S o9
#r JreTAfd gt & |

A Re v Beedt & & @8 39 F w9 fifew

(1

(4)

(1) 1
(2) 2
3) 3
(4) 4

had AR C
ad B3R C
Faa AR D
Fad AR B

1[Option ID=12397]
2[Option ID=12398]
3[Option ID=12399]
4[Option ID=12400]
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Internet companies like Facebook and Netflix are facing a growth lull due to

Global competition.
A considerable global population is not online.
Internet connections are not consistent and fast.

o0 wp

These companies have reached their saturation points in the developed
world.
Choose the correct answer from the options given below :

(1) Only A and B
(2) A.B.CandD
(3) Only B and C
(4) OnlyB.Cand D

(1) 1

(2) 2

(3) 3

(4) 4

e HR Aoy Sl $eteic Fufaar fhas FRoT geftr &1 Far &
JHAT T @ & 2

A faearada afaaifaar |

B. freg ToX W FhT df¥aE IErdy ieensaT A8 ¥

C. $eRAT Fedled FEITd IR AT FE € |

D. A Fuferar T glaar 7 3 @qfta g T g 7 § |
T v et # & I8 3 #9949 ffFv

(1) Fad AR B

() A,B,C,D

(3) Faa B3R C

(4) %dd B,C3HR D

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=12401]
2[Option ID=12402]
3[Option ID=12403]
4[Option ID=12404]
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Digital skills such as cloud computing, artificial intelligence and big data are in top
demand. In view of this statement. which of the following are correct ?

A Indian IT companies are looking at creating a different set of skills.
B. Digital tech talent 1s growing more as compared to core IT.
. The attrition levels in IT companies are high.

D. The active workforce in other sectors is reducing.
Choose the correct answer from the options given below :
(1) Only A and B
(2) Only B and C
(3) Only C and D
(4) Only A and D

(1) 1

(2) 2

(3) 3

(4) 4

Folr3s Hegfear. snfefpfma sefoea 3 faor 2o 3 Rfoew Fwes

FT TIE AT AT § | FW FUT F U F @a ge. e 7 @

FiT-HT Har & 2

Al AT 37S & FAT=AT Flerd FT TF 3697 T 700 W 91 FT
WE

B, RfSea gl gfaesm 1 ar$ & & goen 7 foF @ & ¥

C. HE & FF9far H Ufedd Tt 3= ¢ |

D. T aN T aFT FHaT FA S WL |

= BT 9T Tweat ¥ HE 3eal T T4 HIAT

(1) $dd A HT B
(2) Fao B3T C
(3) ael CHR D
(4) %ga AR D

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12405]
2[Option ID=12406]
3[Option ID=12407]
4[Option ID=12408]

Sl. No.78




QBID:1044053

Due to increasing cybercrimes. organisations now need to work towards building a
robust eyber security infrastructure to tackle any potential security threat.

In the light of this statement. which of the following are correct ?

A Investment should be made in strong cloud security measures.
B. As remote operations continue in post-pandemic era, it is impossible to
avoild damage.
e, The ‘go digital® push is not a great idea in such times.
D. One does not have to be defenceless in the face of cyber attacks.
Choose the most appropriate answer from the options given below :
(1) Only A and D
(2) Only B and C
(3) Only C and D
(4) Only A and D
1) 1
(2) 2
3) 3
4) 4

96 Wi IRl & HRUT, WaroaAl H1 e fhelr o w@enfae e @

¥ Auea & v v A dmar JRaw giAaer e & fAAtor fr R

H F1 T F O 130 FUT & e A Fefef@a A7

ieT-AT Tl ¢ 7

A A #1338 GUET 3urt A e e s g

B, of merAl & arg & o7 F qeyw W o @ gafav afy @
AT FEAT £ |

c U wHg #§ M RS e e TEn @t
HISaT el & WHAT S & fov Rl & @ g #r
HTETeha 6l & |

A foT 91T Aol A @ #EH IUYFT 3] H gqA AT

(n Fad AR D

(2) Faa BAR C

(3) Faa CHR D

(4) Fad AR C




1[Option ID=12409]
2[Option ID=12410]
3[Option ID=12411]
4[Option ID=12412]

Sl. No.79
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Which of the following statements 1s true of sampling?

A It 1s done for surveys.
B. It 1s required for audience studies.
C. It 1s helpful in science experiments only.
D. It does not produce effective results in social sciences.
Choose the correct answer from the options given below :
(1) Only Band C
(2) Only A and B
(3) Only C and D
(4) OnlyAand D
(1)1
(2) 2
(3) 3
(4) 4

PR dasaFmaomas s Fadr & 2
Tg wderor & v fFar srar &

g HEES 3T & [T 3T+ ¢ |

g ao a0 & gA@ET & geas § o

g @A A & gy alone FE &ar & |
JT BT a1v fasedt # A F@el I F 994 HifSA0

(n ad B3R C

(2) Had AR B

(3) Faa C3AT D

(4) Fad AFR D

(1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=12413]
2[Option ID=12414]
3[Option ID=12415]
4[Option ID=12416]
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Match List I with List IT :

List I
A, Twitter
B. Instagram
C.  Amazon
D. Python

L
IL

111
IV.

List IT
Programming
Social Media
E-commerce
Picture sharing

Choose the correct answer from the options given below :

(1) A-IV, B-II, C-II, D-I
) A-1, B-TI, C-III, D-IV
(3) A-TI, B-IV, C-III, D-I
(4) A-TIT, B-TI, C-1, D-1IV

(1) 1

(2) 2

(3) 3

(4) 4

=T 1% |1 g 11 e fife

1
A TER
B. ESIEENH
C. HASAA
D. 9IadA

IL.
111
IV.

T I
Sramf&aT

grerer Hifzam
S-FAY
[EERICIR T

A RT 71T [Fred # O WEl 3cal T I HIAT

(1) A-IV, B-III, C-1II. D-I
(2) A-1 BN, C-III, D-1IV
(3) AT B-FV €L, B
(4) A-TII, B-1II, C-1, D-1IV

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12417]
2[Option ID=12418]
3[Option ID=12419]
4[Option ID=12420]
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Match List I with Last IT :

List I List IT
A, Virtual Reality I.  Connected Appliances
B. Internet of Things II.  Second Life
C.  Artificial Intelligence ITI. Pokemon GO
D.  Augmented Reality IV. Alexa
Choose the correct answer from the options given below :
(1) A-1. B-II. C-III. D-IV
(1) ATl B-1 CIV, D-I1I
(3) AT B-IV, C-1. D11
(4) A-TV. B-III. C-I1. DI
(1) 1
(2) 2
(3) 3
(4) 4
=T 1F |1 g 11 e HifeT
T 1 T
A. THTET aedfaehar (VR) L 33 3T
B. &3t &7 sl (loT) L @ Sftae
C. A def¥ (Al 1. 9rH#AT M
D. #affid aredfa®dr (AR) V. Tolerdr
@ for 1T fawedt & & e 3w F wa R
(1) A-1, B—IL, C—III, D-IV
(2) A-II, B-L C-1V, D-I1I
(3) A-IIL B-1V, C-1, D-1I
(4) A-IV, B-IL C-11, D-1
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12421]
2[Option ID=12422]
3[Option ID=12423]
4[Option ID=12424]

Sl. No.82
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Match List T with List IT :

ListI List IT

A, Webl1-0 I.  Community collaboration

B. Web20 II. Personalised searches and records previous searches
C. Web30 III. Read only web

D. Wiki IV. Interact and collaborate
Choose the correct answer from the options given below :
(1) A-1 B-III, C-IV, DI

(2) A-1. B-II. C-III, DIV

(3) A-TV. B-I. C-II. D-IIT

(4) ATIL, B-IV, C—IL D-I
(1) 1
(2) 2
3) 3
4) 4

T 1% |y &= 1@ fAae fifew

w1 &t 1
A.gg 10 L aer@s wednr
B.39 20 Il 3=fFasa @ 3R Rod @t # ks war
€

C.39 30 L Fger ag e

D. fg<fr V. gqreg-fear 3R wgder

A fqU 71T fahedt # & FET 3R H gIA HITAC

(1 A-1, B-1IL, C-1V, D-1I

) A1, B-II, CIII, D-IV

3) A-1V, B, C-II, DI

(4) A-TIL, B-IV, C-I1, D-1
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=12425]
2[Option ID=12426]
3[Option ID=12427]
4[Option ID=12428]
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Match List I with List 11 :

List I List 11

A, Netflix L. Sundar Pichai
B. Amazon 1L Mark Zuckerberg
C. Facebook III.  Jeff Bezos
D. Google IV. Reed Hastings
Choose the correct answer from the options given below :

(1) A-IL B-1, C-IV, D-III

(2) A-IIL B-II, C-1, DIV

(3) A-1V, B-IIL, C-11, D-1

(4) A-L, B-IV, CII1, D-1I
(1) 1
(2) 2
(3) 3
(4) 4

Hﬁ]%w@llﬂﬁmﬁﬁaz

T 1 gl 11

A. e o L geX s
B. 3T IL A Fhiadl
C. HHgS 111, I S
D. @ Iv. s eaw
i G v TFedl # ¥ FWEl 3 & g9 A0 ¢

(1 ALBICIV. DI

(2) A-IL B-1I1, C-1, D-IV

(3) A-TV, B-IL, CI1, D1

(4) A-1, B-IV, C_III, D11
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12429]
2[Option ID=12430]
3[Option ID=12431]
4[Option ID=12432]
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Match List T with List 11 :

List I
P&G
ITC
Tata

Unilever

List I
A, Lifebuoy L.
B. Pantene IL.
C. Aashirvaad I11.
D. Tetley IV.
Choose the correct answer from the options given below :
(1) A-1V, B-1, C-I1, D-III
(2) A-IIL B-I1, C-1, D-IV
(3) A-1L, B-III, C-IV, D-1
(4) A-1L, B-IV, CII1, D-II
1)1
(2) 2
(3) 3
(4) 4

=T 1% W g 13 fFJers fifew

g 1
A. CIELTIE
B. LEC]
C. efate
D. oA

L
IL.
I1I.
IV.

T 11
dr Uz S
I
2T

L \GEIERS

A feT T fasedl # ¥ Hal 3cal & IIqA HIAT

(1) A-TV. B-1. C-II. D-III
(2) A-TIL. B-II. C-1. DIV
(3) A-TI. B-III. C-IV. DI
(4) A-1. B-IV. CII. D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12433]
2[Option ID=12434]
3[Option ID=12435]
4[Option ID=12436]

Sl. No.85
QBID:1044060




Match Last T with List 1T :

List 11
E-Verito
Kona Electric
Nexon EV
I-Pace

List I
A Tata L
B. Mahindra IL.
C. Hyundai 1.
D Jaguar IV.
Choose the correct answer from the options given below :
(1) A-TIL B-1, C-11, D1V
(2) A-II, B-III, C-1, DIV
(3) A-1, B-1IV, C-I1, D-1I
(4) A-1V, B-II, C-I1, D1
1) 1
(2) 2
(3) 3
(4) 4

T 15 §1 gEr 1 H Fea Hifsw

A
B.
C

D.

T 1
areT

e
SN

IV.

T 1
g-afar

FIT FoIFCH
AFFT S
HE-ow

N ToT ar et #§ ® "l 3caY 1 99a fifEv

(1)
(2)
(3)
(4)
(1) 1
(2) 2
3) 3
(4) 4

A-IIL B-1, CII, D1V
A-II, B-1II. C-1. DIV
A-1. B-IV, CIII, D11
A-IV, B-II. C-1III. D-1

1[Option ID=12437]
2[Option ID=12438]
3[Option ID=12439]
4[Option ID=12440]
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In which chronological order did the following natural calamities happen in the recent
years ?

A Cyclone Yaas
B. Amazon Rainforest Fire
B Tamul Nadu Floods
B Cyclone Amphan
Choose the correct answer from the options given below :
1) A.C.B.D
(2) B.D,C.A
(3) C; B
(4) D.A.C,B
1) 1
(2) 2
(3) 3
(4) 4

gl & aul # eAfaild Jehfde 9et fFe Hremsias A 7 gfed
SR

A. ehdld a1y

B. AT TG T HET
C.  affesg ae

D. ThaTd 3TFRIA

a fer v @Fedt & § "oy 3097 1 99« ffFv
(1) A.C.B.D

(2) B.D.A,C

(3) C,B,D, A

(4) D, A.C,B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12441]
2[Option ID=12442]
3[Option ID=12443]
4[Option ID=12444]
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Explain the process of media production in 1ts correct sequence :

A Scripting
B. Production
i Ideation
D. Editing
Choose the correct answer from the options given below :
(1) C,A,B.D
) B.C.D.A
(3) D.B.C,A
(4) A.B.C.D
1)1
(2) 2
(3) 3
4) 4

=TT 3Icarea Fr gfFar F gEr F7 F TEE
A (F=aicly

B 3cmEa

C. ﬁw

D. HAG

A oT 71T [Fredt # § Hel 3cal T 994 HIAT
(1) C.A.B.D
2) B,C,D,A
(3) D.B.C.A
(4) A.B.C.D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12445]
2[Option ID=12446]
3[Option ID=12447]
4[Option ID=12448]
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Indicate the chronological order of evolution of newspapers :
A. Broadsheet

B. Corantos
C. E-Papers
D. Diurnals
Choose the correct answer from the options given below :
(1) A,B,C,D
(2) D,C,B, A
(3) B,D,A,C
(4) C.B.D. A
(1) 1
(2) 2
(3) 3
4) 4
FAMER 940 & 5™ F FegHAs FA H IR F{
Al arzefiew
B. FRICHH
C. S-gAFER 99

D. S
J foT aT Tedl # ¥ HEr 3ca] T 949 HITST

(1) A.B,C,D
2) BCH A
(3) B D AT
(4) ol i T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12449]
2[Option ID=12450]
3[Option ID=12451]
4[Option ID=12452]
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Identify the correct chronological sequencing of the following ages of human
civilization :

A Industrial Age
B. Iron Age
C. Information Age
D. Stone Age
Choose the correct answer from the options given below :
(1) A,B,C,D
(2) D,CB,A
(3) D,B,A,C
(4) C,B,A,D
(1) 1
(2) 2
(3) 3
(4) 4
Hield TG & fAraaf@a goit 1 Frershiae HesHavr H ggdi HfT :
A. 3l gar
B. cite gar
C. g o
D. qTSTOT T
Jra fgw T ﬁm’r # ¥ #E 3R g FSC
(1) A,B,CD
(2) D,C,B A
(3) D,B,A,C
(4) C.B,A,D
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12453]
2[Option ID=12454]
3[Option ID=12455]
4[Option ID=12456]

Sl. No.90
QBID:1044065




Arrange the variants of COVID-19 virus in the sequence of the way they affected the
world.

A. Delta

B. Beta

C. Alpha

D. Omicron

Choose the correct answer from the options given below :

(1) C,B, A, D
(2) B,D,C, A
(3) A,B,C,D
(4) C,D,A,B

(1) 1

(2) 2

(3) 3

(4) 4

COVID-19 & 9RLH & YHRI FI 30 A # cagieag Hifow, 5w ol &
3egiel gferar w1 yenfaa frar ol

A Scel

B arer

C HewT

D Uﬁ ot

a2 BT v AFeat & F 98 3¢ F1 g fifFT
(1) C.B. A D
(2) B,D,C, A
(3) A.B,C,D
(4) C,D,AB

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=12457]
2[Option ID=12458]
3[Option ID=12459]
4[Option ID=12460]
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Trace the evolutionary sequence of new media :

A. Web 1-0
B. SNS
C. ARPANET
D. Connectivity for network economy
Choose the correct answer from the options given below :
(1) A,C,B,D
(2) C,D,A,B
(3) B,C,A,D
(4) D,C,B,A
1)1
(2) 2
(3) 3
(4) 4

=g #if$ar ¥ T 30HA FT 901 TET

Al aF 10

B. TAUATH

C. HYSE (ARPANET)

D. Aca+ SHAHT & T FafFefadr

g fer 71r fAssear # ¥ TEr 3ca? F1 T4 FifST

(1) A.C,B.D
(2) C,D,A,B
(3) B,C.A,D
(4) D.C.B.A

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12461]
2[Option ID=12462]
3[Option ID=12463]
4[Option ID=12464]
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Identify the steps given below i correct sequence for designing a development campaign :

A. Strategising
B. Situation Analysis
C. Implementation
D. Identifying Objectives
Choose the correct answer from the options given below :
(1) A,B.D,C
(2) B,ACD
(3) B,D,A,C
(4) D,C,A,B
(1)1
(2) 2
(3) 3
(4) 4

% Ao gar #fFEae & FaraEr O 9 F fAv 5 e v o
F Her FF ST gga=T HifAT

A oEfa
B feafa faveryor
C. FEATadT
D 3eaedl 1 ggE
A U 71T @Fedt 7 @ w8 3 F 99T HIfAU
(1) AR D, C
(2) B,A,C,D
(3) B,D,A,C
(4) LC AR
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12465]
2[Option ID=12466]
3[Option ID=12467]
4[Option ID=12468]

Sl. No.93
QBID:1044068




Arrange the following Indian states from North to South :

A. Telangana
B. Jharkhand
C. Andhra Pradesh
D. Chhattisgarh
Choose the correct answer from the options given below :
(hH A B.D,C
(2) B,D,A,C
(3) B,D.C A
(4) C,D,A.B
(1) 1
(2) 2
(3) 3
(4) 4
frfaf@a srdg asat #1397 & efEor g% cgateya fifav
e SECICH
B. SREs
C. T 9er
D. Sdrae
A BT arv fAspedt & & F@el 3o 1 994 HIfFT
(1) ABD,C
(2) B,D,A,C
(3) B.D.C, A
(4) C.D,AB
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=12469]
2[Option ID=12470]
3[Option ID=12471]
4[Option ID=12472]

Sl. No.94
QBID:1044069




Given below are two statements : one 1s labelled as Assertion 4 and the other 1s
labelled as Reason R.

Assertion 4 :

The BBC website carried a report from the Global Witness according to which 227
environmental activists were killed i 2020 for protecting natural resources.

Reason R :

It is important to put people and planet before profit. or climate breakdown and
killings would continue.

In the light of the above statements. choose the correct answer from the options given
below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation A
(3) A 1s true but R 1s false
(4) A is false but R 1s true

(1) 1

(2) 2

(3) 3

(4) 4




A 2 U o 9w € UF AFYa 4% w9 & ofEa & o gEa

3UH FNUTRF TTHE |

HIFFYT A -

ST T F9EEe o ARTF AR F H NEe THRG H TEF FgER
2020 F ITpias TETIAT HT & F AT 227 TATE0T FRERATH H EAT FT
ar 7S |

FRUTR :

A AR g2 F A F IES WA FgeedqU! ¢, FFAT Aoy TWIEr HR
goaT SN g9 |

IYUFT FAT F HAF H. A U v TFedt & ¥ W 3ca7 F1 904

(1) AT RIAT TeT & 3T R, A Fr T e #

(2) A 3T R T £ 3T R A Fr TEr eI AT §
(3) AT g offehed R HTT &

(4) ANTT g ol Fd RET &

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=12473]
2[Option ID=12474]

3[Option ID=12475]
4[Option ID=12476]

Sl. No.95
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Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion 4 ;

According to the World Bank and the UN, an Internet user is anyone who has gone
online at least once in the past three months.

Reason R :

Days of easy growth are gone for successful Internet compaines and they need to be
innovative in their ideas of reaching the unconnected billions.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation A
(3) A 1s true but R 1s false

(4) A is false but R is true




(1) 1

(2) 2

(3) 3

(4) 4

A &1 FuA Rw 70 € vk HFFYT 4% w9 A f@a € ar qEw
SHSF FNTRF TTHE |

HIBFHYT A :

g d IR FgFd TS & AR, T $eAC 3TNl a8 § S o
e AT # FA-U-FH UF a1 oS a7 & |

FROTR :

Ahd Scieic HUAAl & folv A fasm & & og 71v § 3R 3¢
Y IS A T GEIA F A AR & AN @ B HERTRA E
IqEd HYA F Held A, A e av [Fedt & & 98 3a¢ &1 994

(1) A 3R REAT @cT € 3R R, A Fr @ e §

(2) A 3R R T €, ofhea R, A Y wY carear a8 &
(3) ATT &, T R3ET &

(4) ANET g ol RET

1)1
(2 2
3) 3
(4) 4
1[Option ID=12477]
2[Option ID=12478]

3[Option ID=12479]
4[Option ID=12480]

Sl. No.96
QBID:1044071

Given below are two statements : one 1s labelled as 4ssertion 4 and the other 1s

labelled as Reason R.

Assertion A :

Media literacy 1s needed for enhightened individuals and healthy democracy.

Reason R :

Media influences individuals greatly.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s not the correct explanation A
(3) A 1s true but R 1s false
(4) A 1s false but R 1s true

(1) 1




(2) 2
(3) 3
(4) 4

A & FUA QU ¢ § : Th HFFYT AF w9 A fEd ¢ dr gaE}
3G FNUTRF TTH & |

HIRFYA A
gey safFaat IR T diedT & foe AT @arar mEaTs § |

HNTT R :

ﬁﬁmaﬁaﬁﬁa@mﬁm%l
IWFT FUF § el #, a4 v v Feeat & ¥ w8 30¢ &1 934

E T

(1 AR REAT g € iR R AEH Ofr s
(2) A 3R R 2T g7 & afda R, A 6 T8 carear J67 &
(3) ATT g afFT R3IET £
(4) A NET & afeT RET B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=12481]

2[Option ID=12482]

3[Option ID=12483]

4[Option ID=12484]

Sl. No.97

QBID:1044072

Given below are two statements : one 1s labelled as 4ssertion 4 and the other 1s
labelled as Reason R.

Assertion A :

According to Denis McQuail, “Communication s a process which increases
commonality but also requires elements of commonality for it to occur at all.”

Reason R :

Y ou must communicate, because only human beings have the ability to use language
for communication.

In the light of the above statements, choose the correct answer from the options given

below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3

Both A and R are true and R 1s the correct explanation of A
Both A and R are true but R 1s not the correct explanation A
A 1s true but R 1s false
A 1s false but R 1s true




(4) 4

A & Fue w9 § ¢ v AFT 4F w9 A f@a € a gEw

IHF FNT R TTHE |

HIBFUYT A -

fw AFada & HUR, “HARX U v wfRar € S wAear # aerd €
dfee ary & sua ufed g § v gaear & doal fir ot smasgsan ardr
eI

FROT R :

YT FUR FAT AMRT Fifeh ool HIF S & U HOR & forw sman
T 39T Hlel P &AAT ¢ |

IRFT U F Aol H, Ard BT 710 fawedt & & @ér 307 &1 997
FifFT :

(1) AR R Tem § 3R R, A Fr T e §

2) AR R TcF €, ofFa R, A Fr wgr sarea 79 8
(3) AT &, dfheT R3MET &

4) A3¥ET g afdT RET

1)1
(2) 2
3) 3
(4) 4
1[Option ID=12485]
2[Option ID=12486]

3[Option ID=12487]
4[Option ID=12488]

Sl. No.98
QBID:1044073

1s a plan or proposal to conduct research

(1) Research experiment
(2) Research design
3) Research Ethics
(4) Research Philosophy
(1) 1
(2) 2
3) 3

(4) 4




(4)

(1) 1
(2) 2
3) 3
(4) 4

..... HFEU ¥ foeagsr i A= a1 gE e g

HJHUTH I
HTHU HTHFoT
HJHUTT ATshar
HAEUA g

1[Option ID=12489]
2[Option ID=12490]
3[Option ID=12491]
4[Option ID=12492]

Sl. No.99

QBID:1044074

Given below are two statements : one 1s labelled as 4sserfion 4 and the other is
labelled as Reason R.

Assertion 4 :

Inclusion 1s not an answer to issues of governance, development policy and
development planning for women and marginalised sections of the society.

Reason R :

Development issues should be tackled in ways that can help the poor live a life of
dignity and have equal opportunities.

In the light of the above statements, choose the correct answer from the options given

below :
(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Both A and R are true and R 1s the correct explanation of A
Both A and R are true but R 1s not the correct explanation A
A 1s true but R is false
A 1s false but R 1s true




A & wua fQu o € oF 3AFYT 4% w0 A fof@a ¢ @ qua

IHF FRTRF TTHE |

BT A -

gaEe Afgemsit it wATer & @€ & gt & v awe, Few Afg ik
fasra Ao F AgE F1 FaE AE P |

FINUT R :

fashrer & #eel #1 38 e § g har e aifge & et Fr @@ &
Siae Sl # Aeg A 8% 3R 3¢ A a8t & el |

IRFT FUT F HeAF A, AT B 770 Breal & & @y 3630 &1 997

(1) A 3R R =g € 3 R A Fr wd smmEar €
(2) A3 REST Tcg & afeaT R, A Fr GfY carear A8t &
(3) AT &, ot R3ET &
(4) A NG B ofhd RAT &
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=12493]
2[Option ID=12494]
3[Option ID=12495]
4[Option ID=12496]

Sl. No.100

QBID:1044075
Give below are two statements :
Statement [ :
Information 1s power that rests with those who can access it and those who have the
skills to use 1t.
Statement I1 :
Convergence, or merging of technologies for a better output has led to bridging the
gap between digital haves and have-nots.
In the light of the above statements, choose the correct answer from the options given
below :

(1) Both statement [ and statement 11 are true
(2) Both statement [ and statement 11 are false
(3) Statement I 1s true but statement 11 1s false
(4) Statement I 1s false but statement 11 is true

1)1

(2) 2

(3) 3

(4) 4




A=l g1 Fua Tr v §

A 1 :

o1 AT g A1 39 A6 F 99 § S FHAF EAT THhd g IR FaF
9TH SHET 39ANET FIA FT Hiewe § |

&t II :

dga? 3cIed & forv giem@Eifnat & wfFwer o few ¥ Bees =
Hr gg-Aew” F 9 FT @WE F IS H A FHowr g |

IWFT FAAT F HTelF H A= T 710 FFeat & ¥ 987 3ca7 F7T 994

(1) FU7 [ AT I T &

(2) FU 13T =T 38T §

(3) FUT 1 T 2. oifehed FUF 11 370cT &
(4) FUT [ HTT .o FUFT I TT §
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=12497]
2[Option ID=12498]
3[Option ID=12499]
4[Option ID=12500]




